cause’S

problemS
advantageS

disadvantageS
but if not, try to focus on a single main idea and develop it fully

Today, more people are travelling than ever before. N\/hy is this the case? Mhat are the
benefits of travelling for the traveller?

FFheFe—isﬂa—tendeney—that—eJlt is becoming increasingly common for-grewing-rumberof
citizens to enjoy traveling than-the-pastthese [days. In my opinion, beerms-this growth

{Comment [Davel]: Then you need two causes}

Comment [Dave2]: Students usually |ike to
list main ideas bc it is easier - development
ismoredifficult - specific example - develop
it ful ly for the whole paragraph (speaking and
writing)

[Formatted: Font: Bold ]

Comment [Dave3]: Answer both questions

directly

in transportation and salaries and-econemic—may-have primarily |ead fto this trend.
Obvioushy—itThis trend may-benefits jpeopletindividuals in the long run by allowing \

for | relaxation and broadness of personal experience.

One—reasenThe underlying cause of increased travel is more highly developed

transport systems and rising incomes. \For example, in the distant |past, if New Yorkers

living in the United States wanted to visit an-the island er-of Hawaii_remotely located
in_the Pacific Ocean, they—needed-to—take—days—by—<earit would require months of

journeying across land and water and be nearly impossible for the majority of the

population. #-Such an arduous journey hundreds of years ago was thereforewas not

only time-consuming but also wasting—energya waste if valuable energy and most
were discouraged from such trips—Fhereforebackward-transportation-is-more-likely
t&disee&ragepeeple#em%raveﬁng.—_]Neveﬁheles&Nowadavs, with the development

of transportation systems, the consumer commercialization of air travel allows the

average personaireraft-is—being-used—often—alowing-thosepeople— to take-book a
flight fhy-te-thatistand-directly rather than_wasting valuable resources on a long trip

taking-a-carfor-along period. AdditionalyThis trend is compounded by —increases

Comment [Dave4]: You can have just one

main reason - that’ s best.

Comment [Dave5]: It is more common for
people to travel these days than it was in the

past.

{Comment [Dave6]: informal }

Comment [DaveZ]: mostly - good to have a

clear opinion

[Comment [Dave8]: led - past participle J
(Comment [Dave9]: informal }

Comment [Davel0]: try not to use people

too much - it sounds a little awkward

Comment [Davell]: individuals / citizens
/ the general citizenry / the general populace

/ the majority of individuals

Comment [Davel2]: there are many benefits,

such as -+

Comment [Davel13]: don’ t waste too much

time - include your main ideas -writea little

bit faster

[Comment [Dave14]: Great! J

Comment [Davel5]: Makes your example a
little more specific and then the development

makes more sense

{Comment [Dave16]: Very difficult }

Comment [Dave17]: Development is ok -
stating the results, further explaining erﬂ

Comment [Dave18]: Has increased

exponential ly




in disposable middle-class income| —which-is-another—factorresulted-in-changes—of
travel.—‘According to the latest tourism survey conducted by the UK;—with due to

increasing disposable income, people’s-demand for travel is growing rapidly.

Firstly—itThe modern_inclination towards travel s beneficial for travelers—te

achievinge a-sense-feelings of relaxation and perspective. At present, most people are

often—increasingly preoccupied with work, which may expese—them—to—high
pressureresult in a high-pressure lifestyle. Traveling provides them with an

opportunity to escape from menetoneus-a lack of work life balancewerk life. [Besides;

ﬂif they ge-tovisit tourist attractions with-renowned for their natural beauty and plenty

of-fresh air, they may-beare likely to feel more relaxed than those who do not travel.
ﬁ»eeenél% travelling also enables people to broaden their rmirdshorizons. For instance,

by interacting with locals and guides or by visiting local museums ecan—people
travellers can appreciate the—indigenous customs and cultures

thereby enriching traveHers their life experience.\

!In conclusion, the—trends ef-related to traveling is—are due to highly developed

transportation systems and [eenstantly—increasinged disposable income.
including—beingrelated  to

relaxeddecompressing in one’s leisure time, and broadening _one’s horizons.

movementdees rings benefits to individuals,

285

Task achievement: 7 relevant main ideas, good development, clear answers to both

questions

| Comment [Dave26]: Don’ t rely too much on

Comment [Dave19]: End your sentence with
the idea that you want to say - keep your new

info/comment/idea at the end of the sentence

Comment [Dave20]: Good to use some

research to support your idea.

Comment [Dave21]: Good- everything in the
band 6/7 range - your ideas near band 7 but
issues with vocab and grammar bring it down

to 6

Comment [Dave22]: Include the topic again
at the beginning of the sentence to make it
clearer and help your cohesion/coherence

score

{Comment [Dave23]: Great word! }

Comment [Dave24]: Not adding ideas -

you' re developing the one idea

Comment [Dave25]: More specific example
would be better: For example, local Chinese
tourists will typically take a holiday during
the summer months and visit sites famed for
their natural beauty such as the landscapes

in the southern provinces. This -+ (result)

linking phrases - better to have a good flow
of ideas instead of using lots of linking

phrases

Comment [Dave27]: Parallel structure -

both plural

Comment [Dave28]: Specific example here

will help you to structure your paragraph

Comment [Dave29]: A burgeoning

middle-class consumer society

Comment [Dave30]: Substitution and

reference

Comment [Dave31]: Good conclusion -

summarise ideas and answer both questions

clearly - good!




Cohesion/Coherence: 6 cut down on linking phrases, paraphrase a bit more flexibly,

you link your ideas well, referencing

Vocabulary: 6 good collocations, mostly accurate, could paraphrase more, more good

expressions/phrases

Grammar: 6 good complexity, lots of small mistakes

Overall: 6/6.5



